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1. Sthefollgdlffrntzltlons
My -3y +2y=8e" +4x+1 (15%)
@y +2y=x"y* (15%)
2. (1) Evaluate the integral [ = 3]: Jxe ¥ dx (10%)
(2) Given that Laplace transform L{t™"*}=(n/s)"?, please find the value of

L}, (15%)
3x—y=4
3.The equation {x+2y=0 have no solution. Find the vector X = lixo} that
2x+y=1 Yo

best approximates a solution. (10%)
4. Please prove the following theorem.

Let 4, B, C and D with appropriate dimensions. If 4, D—CA'B, and
D are nonsingular, then (A—ﬁ?ﬂ’)”‘(?)"I is nonsingular, and
(4-BD7C) = A" + 4'B(D-CA™B)CA™ . (20%)
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(1)Find, the eigenvalues? (5%)
(2)The correspondlng orthonormal eigenvectors of 4. (10%)




